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3a. Example answer: A because it is the
only paftern with a line of symmefry. All
the others are not symmetrical.

8 squares.
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4a.
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éa. Example answer: D because it is the
only patftern with a horizontal line of

é squares.
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symmeiry.

7a.
8a.

9a. Example answer: A because it is the
only patftern with a diagonalline of

15 squares.
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symmeiry.

Green Answers

1b. 8 squares.

2b.
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Yellow Answers

3b. Example answer: D because it is the
only pafiern that is not symmefrical. All the

other pafterns have a line of symmeiry.

4b. § squares.

5b.
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Red Answers

éb. Example answer: A because it is the
only pattern with a veriical line of

symmefry.

7b. 13 squares.
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9b. Example answer: D because it is the
only pafiern with only 1 line of symmetry.




